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>>> message = 'And now for something completely different'
>>>n = 17
>>> pi = 3.141592653589793
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message —= 'And now for something completely different’
n— 17
pi —= 3.1415926535897932
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>>> T76trombones = 'big parade'
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>>> more@ = 1000000
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>>> class = 'Advanced Theoretical Zymurgy'
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False class finally is return

None continue  for lambda try

True def from nonlocal while

and del global not with

as elif if or yield

assert else import pass

break except in raise
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>>>n = 17
>>> print(n)
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>>> miles = 26.2
>>> miles * 1.61
42.182
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>>> first = 'throat'
>>> second = 'warbler'
>>> first + second
throatwarbler
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